6T/Honors Geometry
Chapter 10 Review - Area

Name,
Date,
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For the following problems, find the area of the entire figure if nothing is shaded, or find the area of the
shaded region if there is one. All answers should be exact unless you are asked ta round.

1. Given a triangle with sides 7, 8, and 13in. long,
find the length of the altitude upon the longest
sogide.. )

2. A= Theareaof acircleis 24w
em?. Find the circumference of this circle.

12411

3. Two similar friangles have base lengths 6 in.and | 4. A= Equilateral Triangle
18 in.. The area of the small triangle is 33 in”.
Find the area of the large triangle.
)
Az
5. A= ___p*= ' 6. A= ABCD is a rhombus with AC=138
Reqular hexagon with semicircles atfached
A B
8 41
D c
7. A= Find the area of a regular nonagon | 8. A=
with sides of length 12 cm. Round to the nearest Regular Polygon, round to the nearest tenth.
tenth. -
8
+9. A= 10. Giver: mZABC=100°, CB = 15; A=____
arclength=_________: probability of landing
in the shaded area (exact) =
2




11. A= P(of shaded area) = - 112, A= AABC is equilateral.
probability of landing in the shaded area BD=DC=10. msDCB = 30°. A
(nearest hundredth) = .

D

13. Find the area of an isosceles trapezoid that has | 14. A= ‘

bases 8 cm. and 18 cm. and that has legs that are 13 14

cm. long.

9 17

15. Find the area of quadrilateral ABCD if 16. Find the area of the quadrilateral ABCD with
m/B=90° AB=6,BC=8,CD =17 and coordinates A(-1,5), B(6.4), €(2.,-2), D(-5,2).
AD = 13. {exact answer) . . .

2
A= A
] N

17. A 15 ] AF=F&; FC=ED=FE=CD.

. A=
E ‘ > Y semicircle - : p=

18. A parking lot is built around a rectangular building measuring 250 f+. by 150 ft. The parking lot is
designed to have more parking on one of the long sides of the building. The parking lot is 30 1. wide
on three sides and 100 ft wide on one long side. Find the area of the parking lot.

A=

Answers: (1) 28.\5 ua; (2) 4J6mem; (3) 297 in% (4) 1443 4%; (5) (963 +24r)U?; (24 + 127 Ju; (6)

15
720 o (7) 890.2 cm? (8) 110.1u?; (9) 3655 u?; (10) _l—zs-nuz: -Z—e?qru : 5/18 (11) (6n-93)?;

(6+2m)u .03; (12) 1003 (13) 156 em? (14) 64110 u2; (15)*‘3&10«.@ & (18) 415 0%
(17) (351+28.125m)4?, (63 + 7.5 ) u; (18) 49300 f1° (Review quizzes)




